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Figure S1 Relationship between altitude and flavonoid metabolites. The linear

regressions were considered significant when P < 0.05.
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The linear regressions were considered significant when P < 0.05.
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Figure S4 Relationship between Isothermality and flavonoid metabolites. The linear

regressions were considered significant when P < 0.05.
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Figure S5 Relationship between temperature seasonality and flavonoid metabolites.

The linear regressions were considered significant when P < 0.05.
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metabolites. The linear regressions were considered significant when P < 0.05.
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metabolites. The linear regressions were considered significant when P < 0.05.
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Figure S8 Relationship between temperature annual range and flavonoid metabolites.
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The linear regressions were considered significant when P < 0.05.



. . .
4 (1= 0282, K ) . Pearsonsr= 0265, R?=0.07, P =0.360
0502, R=0.25,P = 0068 . Pearsonis 1= 0,282, K= 008, P~ 0329
s00
.
N - ¥
s %z
H 1
g T
£ g
5 £
Z, g0
k]
.
1
.
2 .
15 2 15 2 15 2
Mean Temperature of Wettest Quarter (°C) Mean Temperature of Wettest Quarter (°C) Mean Temperature of Wettest Quarter (°C)
- 04 . .
03 carson'st . ) Peasonte 1= 0.261, = 007, P=0.367 X
- " OB 000 Pearsonts 1 =-0.484, R*=023,P=0.079
08
03
o2
Fo2 206
Z
g c
£ <]
]
01
01
02
15 2 15 2 s 2
Mean Temperature of Wettest Quarter (°C) Mean Temperature of Wettest Quarter (°C) Mean Temperature of Wettest Quarter (°C)
. . T
10 .
Pearsortsr=10.277, Ri= 0,08, P = 0.338 <0278 K- 008, P 0335 Pearsonts 1= 0,584, R 008
8 9
.
= =
3 g
2 £
E F
56 3
2 :
&
4 2
Is 2 15 2 15 2
Mean Temperature of Wettest Quarter (°C) Mean Temperature of Wettest Quarter (°C) Mean Temperature of Wettest Quarter (°C)
. . .
Pearsonis £ = 0561, K*= 032, P =0.037 Pearsonts 1= -0.222, K= 0,05, P =0.415
020 Pearsonts =0 327, K= 0.1, P = 0254
-
- 150
.
.
<04
5015 s
; . :
= H
a
0104 o .
. ]
. - 50 02
15 2 15 20 is 2
Mean Temperature of Wettest Quarter (“C) Mean Temperature of Wettest Quarter (“C) Mean Temperature of Wettest Quarter (°C)
- b 006 . Pearsontsr=0.330, -
Pearsonis 1=0.264, 2= 007, P = 0,362 . Pearson's =0 614, K038, P= 0019 .
200
. .
015 .
& 3 ]
;‘ Zow [
£
= 3 %l
010
N -
.
. 002
15 20 s » 15 2
Mean Temperature of Wettest Quarter (°C) Mean Temperature of Wettest Quarter (°C) Mean Temperature of Wettest Quarter (°C)
. . - .
0,153, R7= 002, P = 0.601 Peamsoris 2 020L K001 P00 Pearson's = 0,549, R 0.30,P = 0042
20 s
. .
.
100 . .
.
5 =
£ 304
£
g g
H k|
e T 3
= . 100
50 03
.
-
.
= .
. b . . - 02
.
15 20 s 20 is 2
Mean Temperature of Wettest Quarter (°C) Mean Temperature of Wettest Quarter (“C) Mean Temperature of Wettest Quarter (°C)
. .
012 . 0281, R=008,P=0.330
2 peasonts 0,006, R~ 0,00, P = 0.983 .
. .
.
. .
om0 - 150 .
g . 5
5 .
: - &
< . .
.
008 < . .
. . - .
1004
.
15 20 15 20

Figure S9 Relationship between mean temperature of wettest quarter and flavonoid
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metabolites. The linear regressions were considered significant when P < 0.05.
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Figure S10 Relationship between mean temperature of driest quarter and flavonoid

metabolites. The linear regressions were considered significant when P < 0.05.
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Figure S11 Relationship between mean temperature of warmest quarter and flavonoid

metabolites. The linear regressions were considered significant when P < 0.05.
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Figure S13 Relationship between annual precipitation and flavonoid metabolites. The

linear regressions were considered significant when P < 0.05.
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metabolites. The linear regressions were considered significant when P < 0.05.
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Figure S15 Relationship between precipitation of driest month and flavonoid
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metabolites. The linear regressions were considered significant when P < 0.05.
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Figure S16 Relationship between precipitation seasonality and flavonoid metabolites.

The linear regressions were considered significant when P < 0.05.
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Figure S17 Relationship between precipitation of wettest quarter and flavonoid

metabolites. The linear regressions were considered significant when P < 0.05.
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Figure S18 Relationship between precipitation of driest quarter and flavonoid

metabolites. The linear regressions were considered significant when P < 0.05.
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Figure S19 Relationship between precipitation of warmest quarter and flavonoid

Precipitation of Warmest Quarter (mm)

metabolites. The linear regressions were considered significant when P < 0.05.
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Figure S20 Relationship between precipitation of coldest quarter and flavonoid

metabolites. The linear regressions were considered significant when P < 0.05.
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Figure S21 Relationship between longitude and flavonoid metabolites. The linear

regressions were considered significant when P < 0.05.
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Figure S22 Relationship between latitude and flavonoid metabolites. The linear

regressions were considered significant when P < 0.05.



